Mathe — alles was zahlt

Integralrechnung Losungswege 8
Stammfunktionen

Aufgabe 39

Berechne die erste Ableitung von f mit der Produktregel.

a) f(x)=(x—=5)-(2x+3])
o) f(x)=(x"-3)- cos(x]
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Integralrechnung Losungswege 8
Stammfunktionen

Losungen:

Ad a)

u(x) = x-5 = u'(x) = 1

v(ix) = 2x+3 = vi(x) = 2

fr(x) = wix)-vix)+ulx) v'i(x) =

1-(2x+3)+(x—5)-2
2x+3+2x—10

4x —7
Ad )
u(x) = x°-3 = u'(x) = 2x
v(x) = cos(x) = v'(x) = —sin(x)

fr(x) = ulx)-v(x)+ulx) v'(x) =
= 2x-cos(x)—[x*—3)-sin(x) =
= 2x-cos(x)—sin(x)-x*+ 3 sin(x)
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